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1 asir [

1.1 00,00

Risa/Asir0 free 0000000000 O, unix, Mac, windows 00000 .
000000000000 (asir book), 0000 OO Risa/Asir distribution
page 0 0O 0. (Knoppix/math 00 Risa/Asirunix 00000000000
oooo.)

1.2 00

OO0000O00oo0od, asir-contrib 000 noromatrix.rr D00 OOOO
0. Windows 0D OO0 Mac OO0, asir-contrib OO0 O OOO0OO0O0OOO
0.000o0o0ooooooog,

import ("names.rr");

00000000.00000 wixOOO asir-contrib 000000000
O000000O0do. noromatrix.rre 00000000,

import ("noro_matrix.rr");
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1.3 000

0000000 (Bessel UOOOO coODOOUOODOOOOOOOODO).

A:<i b
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A = newmat(2,2,[[0,1],[-1,0]11);

Risa/Asir 00 (00000)000O00000O0OOO0OOO. O0OOOOO
000 matrix_inverse 00O O0O.

B = matrix_inverse(A);
dooooboooooooooooooo.

print (A*B);
print (A+B) ;

Jordan OO0 O00O0OO0OO0O0OOOOO.
C = linalg.jordan_canonical_form(A);

cOO000D00O0000UDnD. (OO0 undefined OO0OOOODOOOOO,
noromatrix.rr U import DODOUODOO. ODOOOO0OO0OO0OO0O0O0OOO
ooooooooooo. print 00000000 oO0OO0O0O0O0O0OOO
oooooooooo.)

P=C[0];
PI=matrix_inverse(P);
print (PI*A*P);
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A=newmat (2,2, [[@i,0],[0,0i]1]);
B=matrix_inverse(A);

print (A*B);
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D=PI*A%*P;
D2=base_replace(D, [[a0,@i], [a1,-@i]]);

1.4 0O0OO0OOOOOO
unix 0 00O
print_xdvi_form(A);

0o0obOooDOo TXOODODOODOODbOoDOO. MacOOOOOODOOO
TEXOODODOOOoODoODDODOOODO. Windows DO00O0O0O0DODODDOOOO
go.

2 Maple O

Maple OO OO
with(linalg,multiply) ;
ooooooooooooooDooooooooooooog.
A:=matrix([[0,1],[-1,0]11);
Maple 00000 :=000.
B:=matrix(inverse(A));

00000Do0. 00 matrix 000000000 O0OOODOOO,BO
BOOOoOoooooooOoO.

0000000 «0000. multiply(A,B) OOOOODOO.
jordan.

oooooog.



